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Note : Answer Part-I and Part-II in separate answer copies. 
Answer the questions as per instructions given in each 
part. 

Part - I 
(Plant Development) 

Note : i) Question No. 1 is compulsory. 
ii) Attempt any four questions from question No. 2 to 7. 
iii) Draw well labelled diagrams wherever necessary. 

1. a) Fill in the blanks. 	 6x1/2=3 
i) An opening in the integuments that facilitates 

the entry of pollen tube in the ovule is known 
as _ 	 

ii) Siliqua is a pod-like fruit of two carpels with a 
	 septum. 

iii) The outer functional part of secondary Xylem 
with living parenchyma is known as 	 

iv) 	is a pigment which is sensitive to red 
and far red light. 

v) Suspensor is rich in 	 that influence the 
growth and differentiation of embryo. 
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vi) 	is a phyto hormone which stimulates 
the wall degrading enzymes in abscission zone. 

b) Write the appropriate technical term for the 
following. 	 4 x 1/2=2 
i) Process of differentiation of gametes from 

haploid spores. 
ii) Growth of roots towards gravity. 
iii) A plant cell after removal of its wall, and 
iv) The process of development of embryo from 

unfertilized egg cell. 

2. Write short notes on any two of the following: 2x21/2=5 
a) Pollen grain 
b) Cork 
c) Senescence 
d) Endosperm 

3. Write down two important differences between any two 
of the following. 	 2 x 21/2 =5 
a) Egg cell and synergid cell 
b) Root apex and shoot apex 
c) Androgenic haploids and gynogenic haploids, and 
d) Diplospory and apospory 

4. Write a brief account on vascular cambium in a dicot 
stem. 	 5 

5. a) Discuss briefly the role of auxins or cytokinins in 
regulation of apical dominance. 	 3 

b) What are the applications of suspension culture? 2 

6. a) Discuss the functions of tapetum. 	 3 
b) Define polyembryony. Comment on its applications 

in agriculture and horticulture. 	 2 

7. Discuss advantages of cross-pollination in plants. 
Describe the mechanisms adopted by plants to encourage 
cross-pollination. 5 
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Part - II 
(Animal Development) 

Note : i) Question No. 8 is compulsory. 
ii) Attempt any four questions from question No. 9 to 14. 

Give figures wherever necessary. 

8. Fill in the blanks. 	 5x1=5 
i) 	refers to formation of sperm cells in male 

gonads. 

The process of fusion of male and female nuclei 
resulting in the formation of zygote is called 	 

iii) Depending on the amount of yolk, eutherian 
mammalian egg is termed as 	egg. 

iv) The directed movement of cells in response to 
concentration gradient of a chemical factor is 
called 

9. With the help of a diagram explain the structure of 
mammalian sperm. 	 5 

10. Discuss the various morphogenetic movements by which 
gastrulation may take place. 	 5 

11. i) Differentiate between mosaic and regulative 
embryos. 	 3 

ii) What would be the outcome of an experiment where 
an extra Apical Ectodermal Ridge (AER) is grafted 
on the limb bud? 2 

-------. 
v) The type of regeneration in which the lost part 

is reformed by growth of a blastema is termed 
as   
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12. Discuss regeneration in planaria. 	 5 

13. Discuss the process of metamorphosis in urodeles. 	5 

14. Write short notes on the following (any two) 2x2 1/2=5 

i) Metastasis 

ii) Extrinsic factors governing growth 

iii) Extraembryonic membranes in humans 

iv) Vitellogenesis 
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